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[1 B FEyEkE] 4,268 (m) |[1AFEHEKE] 99,700 (m) |[1 B FH#%KE] 5,903 (m)

Rk Rk Rk

= =K Ty E1%k == =K Ty E1%k 1) &I Ty E1%k

TUFEVRUEDIEEY <0.0010  <0.0010  <0.0010 8 <00010  <0.0010  <0.0010 12 <0.0010 1
5V RUEDIEEY 00001  <0.0001  <0.0001 8 00001  <0.0001  <0.0001 12 <0.0001 1
ZITWRUZDIEEY <0001  <0.001 <0.001 8 <0.001 <0.001 <0.001 12 <0.001 1
1,2—HhOnIsYy <0.0001  <0.0001  <0.0001 4 <0.0001  <0.0001  <0.0001 4 <0.0004 1
MLTY <0010 <0010 <0010 4 <0010 <0010 <0010 4 <0.001 1
TRINEEY 2—IFIAFIIL) <0008  <0.008 <0.008 4 <0008  <0.008 <0.008 4 <0.002 1
iR
ZEibiE R
Jhoarte b= b
k05—
BEE <0.10 <0.10 <0.10 3 <0.10 <0.10 <0.10 3 0.00 1
HBIER
Pt 3o 34.6 1
1,1,1—kJoonIsY <0010 <0010 <0010 4 <0010 <0010 <0010 4 <0.001 1
AFI—t—=TFII—TIV (MTBE) <0001  <0.001 <0.001 4 <0.001 <0.001 <0.001 4 <0.001 1
AHMECBIVHVEENIVLEEE) 18.4 43 8.6 29 12.6 5.0 8.1 52 1.7 1
R5GAE (TON) 6 5 5 4 4 3 4 4 5 1
EREGYTUTIEER) -1.4 1
HEREAE 55000 1600 22000 8 7500 400 2600 12 170 1
1,1—9hO0IFLy <00100 <0.0100  <0.0100 4 <00100  <0.0100  <0.0100 4 <0.0010 1
JKig(°C) 240 49 15.7 29 2738 48 16.8 52 20.0 17.0 18.8 12
TUEITREER 0.10 <0.01 0.02 29 0.07 <0.01 0.02 52 0.63 0.29 0.48 12
EYLFRIEERERE(BOD)
LB R ERE(COD)
L5 RUV)IR A FE (50mm 2 )L 43 R B )
FAEME(SS)
BRI R
LEHR
DV
VIBRAAY
RUNOAS D BRE
W) (n/ml) 1800.0 2300 600.0 12 5700.0 150.0 9200 24
FIHYE 36.0 295 306 29 330 280 303 52 99.0 85.0 920 12
BEEFR
il S 11.1 33 6.9 12
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EREGYTUTIEER) -0.7 1
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JKiE (°C) 25.0 19.0 223 12

TUEITREER 1.70 0.87 1.44 12
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Rk Rk Rk

= =K Ty Bk == =K Ty 1%k = &I Ty

TOFEVRUZDILEY <0.0020  <0.0020 <0.0020 2
DIVRUEDILEY <0.0002  <0.0002 <0.0002 2
2TV RUEDIEEY <0.001 <0.001 <0.001 2
1,2—YHONIAY <0.0004  <0.0004 <0.0004 2
LIV <0.020 <0.020 <0.020 2
TRIVEES 2—IFIAFVIL) <0.010 <0.010 <0.010 2
HiIE R
ZEibiE R
Jhoo7e b= bk
#kHo5-Ib
BEE <0.10 <0.10 <0.10 2
RRIER
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1,1,1—M)HonIaY <0.030 <0.030 <0.030 2
AFI—t—TFII—TIL(MTBE) <0.002 <0.002 <0.002 2
AHMECBIVHVEENIVLEEE) 8.9 8.7 8.8 2
R5GAE (TON) 4 3 4 2
EREGYTUTIEER) -0.8 -1.2 -1.0 2
HEXEMRR 27000 1700 14350 2
1,1—=YHOAIFLy <0.0010  <0.0010 <0.0010 2
JKiE (°C) 248 5.2 16.0 4
TUEITREER <0.05 <0.05 <0.05 4
EYLFRIEERERE(BOD)
LB R ERE(COD) 5.3 2.6 38 4
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FAEME(SS) 2 2 2 4
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Rk Rk Rk
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TOFEVRUZDILEY <0.0020 1 <0.0010 1 <0.0010 1
DIVRUEDILEY <0.0002 1 0.0002 1 <0.0001 1
2TV RUEDIEEY <0.001 1 <0.001 1 <0.001 1
1,2—YHONIAY <0.0004 1 <0.0004 1 <0.0004 1
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AFI—t—TFII—TIL(MTBE) <0.002 1 <0.001 1 <0.001 1
BRMEGRIVI VBN LEER) 35 1 55 1 4.1 1
R5GAE (TON) 2 1 1 1 1 1
EREGYTUTIEER) -0.1 1 -0.7 1 -1.6 1
HEXEMRR 820 1 605 1 2547 1
1,1—ybonIFlby <0.0010 1 <0.0010 1 <0.0010 1
JKiE (°C) 220 1
TUEITREER 0.17 <0.05 <0.05 12 0.30 <0.05 0.08 12
EYLFRIEERERE(BOD)
LB R ERE(COD) 7.7 25 36 12 43 20 29 12
SEHMRUV)IR S FE(50mm )L A FREF)
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DIVRUEDILEY <0.0001 1 <0.0001 1 0.0000 1
2TV RUEDIEEY 0.001 1
1,2—9bOnIsy <0.0004 1 <0.0004 1 0.0000 1
LIV <0.001 1 <0.001 1 0.000 1
TRIVEES 2—IFIAFVIL) 0.000 1
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RRIER 0.0 1
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1,1,1—M)HonIaY 0.000 1
AFI—t—TFII—TIL(MTBE) <0.001 1 <0.001 1 0.000 1
BRMEGRIVI VBN LEER) 1.4 1 1.4 1 0.3 1
R5GAE (TON) 4 1 4 1 1 1
EREGYTUTIEER) -1.9 1
HEXEMRR 14 1
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[EEHEKS] 1451 (n) |[1B FEHEKE] 1451 (m) |[1BFEHHKE] 3,023(m)

Rk Rk Rk

1) =K Ty E1%k 1) =K Ty = &I Ty 1%

TOFEVRUZDILEY <0.0015 1 <0.0020 1 0.0000 0.0000 0.0000 2
DIVRUEDILEY <0.0002 1 <0.0002 1 0.0000 0.0000 0.0000 2
2TV RUEDIEEY <0.002 1 <0.002 1 0.007 0.000 0.004 2
1,2—9bOnIsy <0.0004 1 <0.0004 1 0.0000 0.0000 0.0000 2
LIV <0.040 1 <0.040 1 0.000 0.000 0.000 2
TRIVEEY 2—IFIAFVIL) <0.010 1 <0.010 1 0.000 0.000 0.000 2
HiIE R
ZEibiE R
Jhoo7e b= bk <0.001 1 <0.001 1 0.000 1
#kHo5-Ib <0.002 1 <0.002 1 0.000 1
BEE <0.01 1 <0.01 1 0.00 1
KEBIER
picd 3o 17.6 1 220 1 29.4 1
1,1,1—M)HonIaY <0.030 1 <0.030 1 0.000 0.000 0.000 2
AFI—t—TFII—TIL(MTBE) <0.002 1 <0.002 1 0.000 0.000 0.000 2
AHMECBIVHVEENIVLEEE) 5.6 1 2.2 1 2.6 13 20 2
R5GAE (TON) 15 1 <30 1 0 0 0 2
EREGYTUTIEER) -0.1 1 -2.1 1 -1.1 -1.3 -1.2 2
HEXEMRR 200 1 0 1 400 88 244 2
1,1—ybonIFlby <0.0010 1 <0.0004 1
KR (°C)
TUEITREER 0.10 0.00 0.05 12
EYLFRIEERERE(BOD)
LB R ERE(COD)
SEHMRUV)IR S FE(50mm )L A FREF)
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IK52 )
[1BF5KE] 6,185 (m) |[1BF9i%KE] 2,408 (m) |[1BF8%KE] 1,590 (m)
Rk Rk Rk
= =K Ty Bk == =K Ty 1%k = &I Ty 1%

TOFEVRUZDILEY <0.0010 1 <0.0010 1 <0.0010 1
DIVRUEDILEY <0.0001 1 <0.0001 1 0.0003 1
2TV RUEDIEEY <0.001 1 <0.001 1 <0.001 1
1,2—YHONIAY <0.0040 1 <0.0004 1 <0.0004 1
LIV <0.001 1 <0.001 1 <0.001 1
TRIVEES 2—IFIAFVIL) <0.002 1 0.004 1 <0.002 1
HiIE R
ZEibiE R
Jhoo7e b= bk
#kHo5-Ib
RRIER
picd 3o 17.4 1 22 1 <05 1
1,1,1—M)HonIaY <0.001 1 <0.001 1 <0.001 1
AFI—t—TFII—TIL(MTBE) <0.001 1 <0.001 1 <0.001 1
BRMEGRIVI VBN LEER) 5.9 1 5.8 1 12.0 1
R5GAE (TON) 3 1 1 1 3 1
EREGYTUTIEER) -0.6 1 -0.9 1 0.9 1
HEXEMRR 3000 1 3000 1 3000 1
1,1—=YHOAIFLy <0.0010 1 <0.0010 1 <0.0010 1
KR (°C)
TUEITREER 0.17 <0.05 0.09 12 0.09 <0.05 <0.05 12 <0.05 <0.05 <0.05 12
EYLFRIEERERE(BOD)
LB R ERE(COD)
SEHMRUV)IR S FE(50mm )L A FREF)
FAEME(SS)
(o3 gkd i 3040
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il S
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TOFEVRUZDILEY <0.0010 1
DIVRUEDILEY <0.0001 1
2TV RUEDIEEY <0.001 1
1,2—9bOnIsy <0.0004 1 <0.0004  <0.0004  <0.0004 2
LIV <0.001 1
TRIVEES 2—IFIAFVIL) <0.002 1
iR
ZEibiE R
Jhoo7e b= bk
#kHo5-Ib
HBIER
picd 3o 6.2 1
1,1,1—kJoonIsY <0.001 1 <0.030 <0.030 <0.030 2
AFI—t—TFII—TIL(MTBE) <0.001 1
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TRV 2—TIFIAFII)

FIEEM

ZEsbiE®R

2s)ulupz o el XY)[%

fakoas5-

BEE

BEER

R i R

1,1,1—koonIsay

AFI—t—TFII—TIL(MTBE)

BEHMEGRIVAVENILEES)
R5GAE (TON)

BRI GYTU7ER)
HEREMAE

1,1—ybonIFlby

KR (°C)

PUEITREER
EYILFHIEERERE(BOD)

{LZ B R ERE(COD)

L5 RUV)IR A FE (50mm 2 )L 43 R B )

FEME(SS)
RE TR R A
LER

)
VUBAFY

FINOXD & FRRE
HEH)(n/ml)
FIVHUE
BEBR
B4y

BB
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T R28(2016)F B KEMET [RAKDKE (EKEEH)

[EEE7 Py [EEE7 Py [EEEIr e
29 - 023 Z=RE 29 - 024 ZH=RE 29 - 025 Z£=RE
= R ET A& ET Fzm
[%7kiH4] 01 - 00 [%7kiH4] 01 - 00 [%7kiH4] 01 - 00
= ERET 55 1 52K 15 AISETE 2% K5 ZREEKE
BEIER KiE&] KiE&] KiE&]
REREKE &K RHF EHI
[k DFELE] [k DFELE] [k DFELE]
#IKZK EHFEK #IKZK
[1 BTy KE] (m) 1B FEyHKE] 304 (m) ([1BF19%KE] (m)
Rk Rk Rk
= =K Ty E1%k == =K Ty E1%k = &I Ty 1%

TOFEVRUZDILEY <0.0020 1

DIVRUEDILEY <0.0002 1

2TV RUEDIEEY <0.002 1

1,2—9bOnIsy <0.0004 1

LIV <0.040 1

TRIVEES 2—IFIAFVIL) <0.008 1

iR

ZEibiE R

Pl uyzd cd Sl V)% <0.001 1

fakoas- <0.002 1

BEE <0.01 1

HBIER

picd 3o 220 1

1,1,1—kJoonIsY <0.030 1

AFI—t—TFII—TIL(MTBE) <0.002 1

BEHMEGRIVAVENILEES) 36 1

R5GAE (TON) 20 1

EREGYTUTIEER) -0.6 1

HEXEMRR 200 1

1,1—ybonIFlby <0.0100 1

KR (°C)

PUEITREER

EYLFRIEERERE(BOD)

LB R ERE(COD)

SEHMRUV)IR S FE(50mm )L A FREF)

FAEME(SS)

(o3 gkd i 3040

L2ER

DV

VIBRAAY

FINOARY £ B RE

£ (n/ml)

FIVHVE

BEBR

il S

BT

13



T R28(2016)F B KEMET [RAKDKE (EKEEH)

[EEE7 Py [EEE7 Py [EEEIr e
29 - 026 =RE 29 - 027 =RE 29 - 028 E=RE
Lt ko di) BB AEH
[%7kiH4] 01 - 00 [%7kiH4] 01 - 00 [%7kiH4] 01 - 00
HEETER E 50KS L BTKE R EC K FE B 7K 15
BEIER [kiE4] KiE&] KiE&]
EHF BksZzK ZREREKE
[FRknDiEE] [FRknDiEE] [FRknDiEE]
EHFK-FRK(ER #IKZK #IKZK
[1BF5KE] 1,634 (m) |[1BF%KE] 5519 (m) |[1 B85 KE] ()
Rk Rk Rk
= =K Ty E1%k == =K Ty E1%k = &I Ty E1%k

TUFEVRUEDIEEY

DIV RUVEDIEEY

ZYTIVRUZDIEED

1,2—HhOnIsYy

MLTY

TRIVEES 2—IFIAFVIL)

BIE R

ZEibiE R

yhnaye k=L

k05—

HBBER

i34

1,1,1—kyboaIsy

AFI—t—TFII—TIL(MTBE)

BEHMEGRIVAVENILEES)

R5GAE (TON)

BRM (SUTUTES)

HEREMAE

1,1—9hO0IFLy

KR (°C)

TUEITREER <0.05 1

EYLFRIEERERE(BOD)
LB R ERE(COD)
L5 RUV)IR A FE (50mm 2 )L 43 R B )

FAEME(SS)
RR % A
o

DV
VUBATY

FINOXD & FRRE
HEH)(n/ml)
FIVHUE
BEBR
B4y

BT
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T R28(2016)F B KEMET [RAKDKE (EKEEH)

[EEE7 Py [EEE7 Py [EEEIr e

29 - 029 =RIE 29 - 030 ZH=RE 29 - 031 ZE=RE

JI| FRET RIEET B (#mLKE)

[%KkZEE] 01 - O [%KiZE] 02 - 00 [%KZE] 01 - 00

NI %KE RIEAT%KIG B % K5

BEIER KiE&] KiE&] KiE&]

bl EF6SHFA, BKZK EIIKFR

[FRknDiEE] [FRknDiEE] [FRknDiEE]

RHFK RIFK LN ¢

[EEHEKS] 1481 (n) |[1BFEHEKE] 1,064 (m) |[1BFEH%KE] 1,897 (m)

Rk Rk Rk

3= =K Ty E1%k == =K Ty E1%k = &I Ty

TUFEVRUEDIEEY <0.0015  <0.0015  <0.0015 2 <00010  <0.0010  <0.0010 12
5V RUEDIEEY 0.0002  0.0002 0.0002 2 <0.0001  <0.0001 <0.0001 12
29TV RUEDILE <0.001 <0.001 <0.001 2 <0.001 <0.001 <0.001 12
1,2—9bOnIsy <0.0004  <0.0004  <0.0004 2 <0.0001  <0.0001 <0.0001 4
LIV <0.040 <0.040 <0.040 2 <0.010 <0.010 <0.010 4
TRINEEY 2—IFIAFIIL) <0.010 <0010 <0.010 2 <0.008 <0.008 <0.008 4
iR
ZEibiE R
Jhoo7e b= bk <0.001 <0.001 <0.001 2
fakoas- 0.003 <0.002 <0.002 2
BEE 0.01 0.01 0.01 2 <0.10 <0.10 <0.10 2
RRIER 0.6 03 0.5 2
Pt 3o 11.0 7.8 9.4 2
1,1,1—kJoonIsY <0.030 <0.030 <0.030 2 <0.010 <0.010 <0.010 4
AFI—t—=TFII—TIV (MTBE) <0.002 <0.002 <0.002 2 <0.001 <0.001 <0.001 4
AHMECBIVHVEENIVLEEE) 8.8 40 6.4 2 10.3 56 7.9 12
R5GAE (TON) <3 <3 <3 2 5 3 4 4
EREGYTUTIEER) -0.6 -0.7 -0.7 2
HEXEMRR 520 300 410 2 9400 280 3500 12
1,1—ybonIFlby <00100  <0.0100  <0.0100 4 <00100  <0.0100  <0.0100 4
JKiE (°C) 26.7 4.1 15.6 12
TUEITREER 1.71 1 2.00 2.00 2.00 4 0.06 <0.01 0.01 12
EYLFRIEERERE(BOD)
LB R ERE(COD)
L5 RUV)IR A FE (50mm 2 )L 43 R B )
FAEME(SS)
BRI R
L2ER
DV
VIBRAAY
RUNOAS D BRE
49 (n/ml) 650.0 130.0 330.0 12
FIVHVE 28.0 240 265 12
BEBR
il S
BT
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T R28(2016)F B KEMET [RAKDKE (EKEEH)

[EEE7 Py [EEE7 Py [EEEIr e
29 - 031 =RIE - -
=R (HRTR L IKIE)
[%7kim4] 02 - 00 (% 7Ki54] - [KiZ4E]
AL &R % K5
BEIEH [kiE%] [kiE%] [kiE%]

EINKR
[k DFELE] [k DFELE] [k DFELE]
CIN; ik
[1BF5KE] 203 (m) |[1BF9%KE] (m) [[1BF55KE] ()
Rk Rk Rk
= =K Ty E1%k 1) =K Ty E1%k 1) &I Ty 1%

TOFEVRUZDILEY <0.0010  <0.0010  <0.0010 12

DIVRUEDILEY <0.0001  <0.0001  <0.0001 12

2TV RUEDIEEY <0.001 <0.001 <0.001 12

1,2—YHONIAY <0.0001  <0.0001  <0.0001 4

LIV <0010 <0010 <0.010 4

TRIVEES 2—IFIAFVIL) <0.008 <0.008 <0.008 4

HiIE R

ZEibiE R

Jhoo7e b= bk

#kHo5-Ib

BEE <0.10 <0.10 <0.10 2

RRIER

picd 3o

1,1,1—M)HonIaY <0.010  <0.010 <0.010 4

AFI—t—TFII—TIL(MTBE) <0.001 <0.001 <0.001 4

AHMECBIVHVEENIVLEEE) 10.3 5.6 7.9 12

R5GAE (TON) 5 3 4 4

EREGYTUTIEER)

HEXEMRR 9400 280 3500 12

1,1—=YHOAIFLy <00100 <0.0100  <0.0100 4

JKiE (°C) 26.7 4.1 15.6 12

TUEITREER 0.06 <0.01 0.01 12

EYILFHIEERERE(BOD)

{LZ B R ERE(COD)

SEHMRUV)IR S FE(50mm )L A FREF)

FAEME(SS)

(o3 gkd i 3040

L2ER

2Uy

VIBRAAY

FINOARY £ B RE

HEY) (n/ml) 650.0 130.0 330.0 12

FIVHVE 28.0 240 265 12

BEBR

il S

BT
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